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SERR UNBERD)

(1) BRELEE (4 Fooc4)
X 53 SR’ (C) wOE (%)
ﬂ /DJIJ = =x = 7 = =x = N 1A
R S 2 & Y )
£ 36 -1.3 16.6 99.5 9.3 69.
1 A 15. -1.3 6.1 90. 8 9.3 53.
2 A 20. -0.38 7.9 94.9 20.9 59.
3 H 21. 0.4 10. 7 95.0 20. 8 60.
4 A 25. 1.2 13.1 98. 1 17.2 65.
5 A 27. 7.7 18.9 99.5 23.6 68.
6 H 31. 14. 4 21.4 99. 4 37.7 79.
7 H 35. 17.7 24. 4 99.5 53.5 81.
8 H 36. 21.2 28.1 98.3 45.9 77.
9 A 36. 18.3 25.2 99.5 45.9 74,
10A 32. 12.4 19.9 99.5 34.0 76.
11H 24 1.8 13.6 96.9 27.3 68.
12 A 21 1.2 9.5 97.8 14.6 65.
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(2) & &/ (4 Fn ot 4F)
X 43 m o (m/s) BN | B S H & K oy
K 10m . .
2 A % /N = S8 = % /N =
RS . BE o [ /Y &= H¥% | B % S [ /Y &=
H 5l JaRl JEE | R R (mm) (mm) (mm)
£ 2.3 43. 4 171 1669. 5 122 0 202.0 4.
1 H 2.2 26.1 11 16.0 2 0 15.5 0.
2 H 2.1 22.0 11 34.5 6 0 22.5 1.
3 H 2.6 23.1 20 69.0 11 0 18.0 2.
4 H 2.4 16.5 20 169.0 10 0 64.5 5.
5 H .4 20.1 15 166. 0 10 0 106. 5 5.
6 H .4 19. 4 15 224.0 15 0 65.0 7.
7 H .1 22.4 10 142. 0 18 0 34.5 4.
8 A .6 20.6 18 94. 0 9 0 42.5 3.
9 A .3 43. 4 10 115.0 7 0 54.0 3.
1 0A4 L7 42.5 17 452.5 15 0 202.0 14.
1 1A4 .3 22.4 14 119.0 11 0 75.0 4.
1 2 H .9 16. 7 10 68.5 8 0 26.0 2.
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(3) A (45 F o 4 )

ol |y | ® o | | W M| o | CHEE
M)ititﬁitﬁﬁﬁ;ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁitﬁit
i o o o i 75 75 75
A 5
LIS 1| 5.416.318.313.212.413.2(5.61(14.1(5.112.4(1.61]1.812.415.31|17.3|15.6
1 H 5.814.516.912.112.014.01(5.216.41(2.111.2(1.312.212.7]6.8126.9/19.9
2 A 6.3(8.1(13.4/5.5(12.5(13.8(4.819.2(2.31]1.411.3(1.912.4|6.3|17.1(13.7
3 H 6.0(6.4|7.213.513.313.31(4.019.1(4.51]3.713.513.61(4.01]6.7]|15.9]|15.3
4 H 4.013.416.5(14.31(13.313.8(7.319.1]7.3(1.8(1.7(1.3]1.9|5.6116.4(12.3
5 H 2.812.213.111.9(1.714.41(8.7125.2{7.112.2(1.211.112.214.5118.9/12.9
6 H 4.016.816.812.912.212.3(17.1119.9/6.8(3.11]1.9(2.11]12.05.5113.6(13.0
7 A 6.6|5.7110.0(4.413.4(13.0|7.1(18.7|8.712.6|1.6(1.412.213.6]9.11(11.9
8 A 2.112.413.011.2(1.112.91(7.4127.7{8.915.01(2.512.513.0]5.31(14.3|10.7
9 H 4.919.6110.3(3.112.9(3.5|5.312.7|4.7(2.7|1.2(1.11]2.314.9115.3(15.5
1 0H 8.512.4/10.8(3.01(1.7(12.712.7|7.012.8(1.8]0.8(0.91(2.01(4.9117.920.1
11A4H 6.115.3112.0(13.112.01(2.01(4.419.3(3.3(1.7(1.4(1.312.5(4.7117.9(20.7
1 2 H 8.319.4110.713.212.212.413.6(4.8(2.1(1.3]1.0(1.71]2.115.0120.821.4
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e 2 7

[ERR (BEMM)

(1) \BEL&EE (S foacHEH)
% S OW () W (%)
A 5l & & & 1K N O] ® & K RIS O
G 36. 1 -0.9 16. 1 99. 9 14. 4 74.
1 A 15. 4 -0.8 5.8 93. 8 14. 4 59.
2 A 20. 9 -0.9 7.5 99.9 28.5 67.
3 A 21. 8 -0. 1 10. 2 99. 1 19.8 65.
4 A 25. 1 -0.2 12.6 99.9 18.7 68.
5 H 29. 2 7.3 18.6 99. 9 27.2 70.
6 H 31. 1 13.6 20. 9 99.9 36. 1 82.
7 H 34, 2 17.3 23.9 99.9 56. 1 86.
8 H 35.5 21.0 27. 6 99.9 49. 7 81.
9 A 36. 1 17.2 24.5 99. 9 50.5 79.
104 32.2 12.2 19. 2 99. 9 29. 92 82.
114 22.9 0.9 12.9 99.9 34. 4 75.
12 A 19.7 1.4 8.9 99.9 17. 1 71.
BRECTEE
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. 3y 355 :
: . 39,9
29. 2
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25.0 009 218 21.0
_ 19. 7
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15. 4 ‘ — —
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(2) J& &l (4 Fin ot 4 )
X 4y & # (m/s) B | BT | B K ooy
vy |wmmma| 00 pER (px|ow| W " | Bk
L ko
H 3 JE\ 32 JE | R E H %K (mm) (mm) (mm)
ES 1.9 15.0 129 2232. 132 0 299.0 6.
1 A 2.0 21. 4 12 18. 2 0 17.5 0.
2 A 1.8 21. 4 8 37. 5 0 24.0 1.
3 A 2.2 20.3 13 98. 11 0 23.0 3.
4 A 2.2 23.8 13 177. 12 0 58.5 5.
5 A 2.2 21.3 19 177. 9 0 95.0 5.
6 A 1.9 26. 2 11 269. 15 0 51.5 9.
7 A 1.7 21.0 6 256. 20 0 76.5 8.
8 A 2.2 19.9 13 242. 13 0 80.5 7.
9 A 1.9 25. 4 9 119. 9 0 59.5 4.
104 1.9 28. 2 9 619. 17 0 299.0 20.
114 1.8 18.1 7 139. 10 0 75.5 4.
12AH 1.5 18.0 9 78. 9 0 25.0 2.
B &R
700. 0
619.5
600. 0
500. 0
400. 0
300. 0 2690 9555 51y 5
200. 0 177.5  177.0 I I I
Lo, 5 139.0
100. 0 98.0 78.0
sl 11K
0.0 - ]
1A 2 H 3 H 4 A 5H 6 H 7H 8 H 9H 10H 11H 12H4
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(3) FEJ& A (45 Fn ot 4F)
Etfjj) |y | | | | g | o |
°4t4t$4tﬁﬁﬁﬁﬁﬁﬁﬁ itﬁit

H W H H [iz] [iic} i) i)

A 5l
£ 3.9/ 2.1| 1.5/ 1.6| 3.2| 4.5/ 8.9/12.0| 7.2| 2.3| 1.9 3.1 14.6[16. 3[10.
1 A 4.8/ 2.1/ 1.6/ 1.0 1.9| 3.4| 7.1| 7.5| 3.4| 1.8 1.3| 3.3 17.1{21. 2/14.
2 A 4.2 2.8/ 1.6 2.0| 4.4] 5.3| 9.5[12.5| 6.8 2.2| 2.1| 2.6 14.9/13. 5] 8.
3 H 3.2/ 1.7 1.3 1.3| 4.3 5.4| 9.2 9.0| 6.4| 1.5 2.3| 5.6 18. 4|14. 5| 8.
4 A 3.1 1.4| 1.1] 1.2| 1.9| 4.1/10.8/18.2| 7.1| 2.2 2.1| 2.5 12.7(14. 8]10.
5 A 3.2/ 1.6] 1.1] 1.1| 2.5] 4.7/12.8[16.7| 5.7 1.5 1.4] 2.1 15.0/17. 9] 8.
6 A 3.2 2.5/ 2.0] 2.3| 3.7 4.6/10.6[14.7| 7.0 2.0| 1.3] 3.1 13.0/14. 0] 9.
7 A 3.4| 2.2| 1.9 2.0| 4.5| 6.7 9.9/13.9/12.0| 3.5 2.2| 2.4 7.8|11.3|11.
8 A 3.8/ 2.1] 1.3| 1.7 3.5/ 3.8/11.7|11.1| 6.0| 2.1| 1.8] 3.1 12.7[18.5[11.
9 A 3.8/ 1.9/ 1.3 2.1| 3.5/ 5.1| 8.6[12.8| 8.6/ 2.3| 1.6 2.0 15.3|15. 0[11.
1 0H 4.0/ 2.0 1.6| 2.8 4.1 4.0| 5.2| 8.8| 6.6/ 2.8 2.3| 3.2 16.5/18.0[11.
11H 4.4] 2.0| 1.3] 0.8] 2.1| 2.8| 6.0/10.3| 9.5/ 3.2| 2.1| 3.2 15. 4[18.9]12.
1 2H 5.6/ 2.4| 1.5 1.6| 2.7 4.1| 5.9| 8.4| 7.1| 2.8 2.7 3.5 15. 7(17. 7]10.
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JEBHBAR UNBRHTDOH)

(1) #% 4 ot )
I8 3 = i Wk R % &

A 3l
& fil 0 10 6 4
1 H 0 0 0 0
2 H 0 0 0 0
3 H 0 0 0 0
4 A 0 0 0 0
5 A 0 1 1 0
6 H 0 1 0 0
7 H 0 0 0 0
8 A 0 3 1 0
9 A 0 2 2 2
10 A 0 3 2 2
11 A 0 0 0 0
12 A 0 0 0 0
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(2) FEH (45 Fn o 4F)
| | ol K| R | EF | K | K|k B E &
I I e L e I I I S I R AP I
A 5
F M 78| 150 49| 2| 1| 2| 1| 47| 10| 112| 9o 9| o 4
1 A 26| 13| o 1| o 1| 1| o o ol o o of o
2 A 150 14| 2| 1| o 1| o o o 1| of 1| o] o
3 A 15 19| 2| o o o o 1| o 8| 1| o of o
4 A 14 13| 3] ol o of o 1| o 8| 8| o o o
5 A 4 6| 4| ol o o of 4| 1| 10| of o o] o
6 A ol 12| 6| o 1| o of 8| ol 13 ol o o] o
7 A ol 10| 4| of o o ol 8| ol 19| o 5| o| o
8 A o| 8| 6| ol of o of & 3 23] o o o o
9 A o| 8| 6| ol o o ol 2| 1| 12| o o o =2
10 A ol 15| 7| o o o ol 12| 5| 10| of 2| of 2
11 A 2| 15| 6| o o o of 2| ol 4| o 1| o] o
12 A ol 17| 3| ol o o of 1| o 4| of o o] o
IRl (FED
9 9 // 4
Yook - '
10 =
1&%‘%'1/ /
1 HE =
2 L2
CEAR e BRE R s KT T e ST e B s KW sdUk = E o F e BE - -
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